

THE INFORMATION IN THIS BOX IS NOT A PART OF THE CONTRACT AND IS FOR COUNTY USE ONLY



Contract Number

25-681 A-1

SAP Number

4400029520

Arrowhead Regional Medical Center

Department Contract Representative Andrew Goldfrach
Telephone Number (909) 580-6150

Contractor Pure Processing , LLC
Contractor Representative Naveen Samuel
Telephone Number (714) 234-1030
Contract Term N/A
Original Contract Amount \$190,174.46 and applicable taxes
Amendment Amount (\$5,965.24)
Total Contract Amount \$184,209.22 plus applicable taxes
Cost Center 9174704200
Grant Number (if applicable) N/A

AMENDMENT NO. 1

WHEREAS, Pure Processing, LLC ("Contractor") and San Bernardino County ("County") on behalf of Arrowhead Regional Medical Center ("Medical Center" or "ARMC") entered into a Contract, fully executed on September 9, 2025, to acquire ergonomic workstations and related equipment for ARMC; and

WHEREAS, the parties desire to amend the Contract to revise the list of specific equipment to be sold by the Contractor and purchased by the County for the Medical Center under the Contract and to update the related pricing; and

NOW THEREFORE, retroactively effective as September 9, 2025, the Contract is amended as follows:

1. Exhibit A of the Contract is deleted in its entirety and replaced with the Exhibit A attached to this Amendment.
2. Section E.1 of the Contract is deleted in its entirety and replaced with the following:

E.1 Contractor shall bill the County for the Equipment in accordance with the prices set forth on Exhibit A. Applicable sales tax shall be applied to the prices on Exhibit A plus shipping and freight costs. Shipping and freight costs shall not exceed of \$7,422.
3. All other terms and conditions of the Contract remain in full force and effect.

4. This Amendment may be executed in any number of counterparts, each of which so executed shall be deemed to be an original, and such counterparts shall together constitute one and the same amendment. The parties shall be entitled to sign and transmit an electronic signature of this Amendment (whether by facsimile, PDF or other email transmission), which signature shall be binding on the party whose name is contained therein. Each party providing an electronic signature agrees to promptly execute and deliver to the other party an original signed Amendment upon request.

IN WITNESS WHEREOF, San Bernardino County and the Contractor have each caused this Amendment to be subscribed by its respective duly authorized officers, on its behalf.

SAN BERNARDINO COUNTY

► *Dawn Rowe*
Dawn Rowe, Chair, Board of Supervisors

Dated: JAN 13 2026
SIGNED AND CERTIFIED THAT A COPY OF THIS DOCUMENT HAS BEEN DELIVERED TO THE CHAIRMAN OF THE BOARD.

By *Lynna Monell*
Lynna Monell
Clerk of the Board of Supervisors
San Bernardino County,
Deputy



PURE PROCESSING, LLC

(Print or type name of corporation, company, contractor, etc.)

DocuSigned by:
By *Carrie Pasinski*
Authorized signature - sign in blue ink

Name Carrie Pasinski
(Print or type name of person signing contract)

Title CFO
(Print or Type)

Dated: 12/04/2025

Address 2200 E. Ogden Ave., Suite 100
Lisle, IL 60532

FOR COUNTY USE ONLY

Approved as to Legal Form
Charles Phan
Charles Phan, Supervising Deputy County Counsel
Date 12/4/2025

Reviewed for Contract Compliance
► _____
Date _____

Reviewed/Approved by Department
Andrew Goldfrach
Andrew Goldfrach, ARMC Chief Executive Officer
Date 12/4/25

EXHIBIT A



Prepared By Naveen Samuel
 Email nsamuel@pure-processing.com
 Phone (714) 234-1030

Quote Line Items

Product Code	Product Description	Quantity	Sales Price	Total Price
PS-ERGTB-HA-6032	<p>The <u>PureSteel™</u> Ergonomic WorkStation is designed to enhance the packaging of instruments and instrument sets in reprocessing areas. Electro-mechanical height-adjustability allows users to find the most comfortable standing or sitting height during work. Features <u>include</u>: push button lifters to adjust work height and enable easy maintenance; 8 electrical outlets for wiring additional equipment. QTY 1, 60"L x 32"W height-adjustable workstation.</p>	1.00	\$11,579.07	\$11,579.07
PS-TB-PB-6024-S	<p><u>PureSteel™</u> Table Pegboards organize and store a customized set of reprocessing tools and supplies within safe and ergonomic reach for the technician or nurse. <u>Can</u> also organize electric cords away from wet or crowded areas. Features <u>include</u>: height adjustable with the table; a variety of optional organizing accessories. QTY 1, 60"L x 24"H table pegboard, standard pegs throughout.</p>	1.00	\$2,619.88	\$2,619.88
PS-TB-HASHLF	<p>A suspended shelf mounted underneath Ergonomic WorkStations or Tables to <u>lets</u> users store accessories at each table. Adjusts with height-adjustable tables. QTY 1, height-adjustable shelf.</p> <p>The <u>PureSteel™</u> Hughes Seal & Stow Heat Sealer Shelf is <u>a</u> ergonomic & space saving solution for staging large, heavy heat sealers <u>off</u> of countertops.</p>	1.00	\$2,344.65	\$2,344.65

PS-TB-HEATSEALSCLF	Heat sealers can be staged onto a collapsible shelf that sits on the underside of the table. When needed, the shelf can be brought to table-level for use. When a heat sealer isn't required, the shelf can collapse hands-free to store the heat sealer. 21.5"D x 18"W. Heat sealer not included. QTY 1 Heat Sealer Shelf.	1.00	\$2,132.50	\$2,132.50
PS-TB-EVOLUTION-2FT	The Paladin Evolution Rail System is an optional rail which mounts directly to the side of a table or pegboard, allowing Users to easily 'snap', move and re-organize accessories to different locations without any tools or hardware; easily snap & reorganize in minutes! The rail is compatible with any backwall or pegboard configuration. Ideal solution for peel pouch box holders and more. QTY 1, 2 foot rail for table installations.	1.00	\$1,281.50	\$1,281.50
PS-PPH-32	The PureSteel™ Peel Pouch Box/Sleeve Holder holds boxes or loose sleeves of peel pouches. Great for peel pouch sizes for robotic devices, or boxes approximately 32"L. Compatible with the Paladin Evolution Rail System for Tables. QTY 1 peel pouch box/sleeve holder.	1.00	\$1,575.50	\$1,575.50
T-TB-PB-HOOD-04	The PureSteel Table Light Hood provides lighting on table pegboards for optimal visualization of surfaces and soils. 4' in length. QTY 1.	1.00	\$1,114.79	\$1,114.79
PS-LGHT-475X	The PureSteel™ 4.75x Magnification Task Light provides sterile processing and gastroenterology professionals with enhanced magnification capabilities for external visual inspection capabilities. The task light features 2 different glass lenses that are easily swapped to match the magnification to the task or IFU (a 4.75x and 2.25x magnification lens). The task light features touch-sensitive brightness controls and a spring-balanced arm for easy adjustment & control. Includes a c-clamp and L-bracket for mounting, but does not include hardware. QTY 1 task light, 1, 4.75x lens, and 1, 2.25x lens.	1.00	\$1,202.51	\$1,202.51
PS-SLF-LGHT-24x12	PureSteel™ Lighted Shelves provide a stainless steel shelf option for mounting accessories on prep and pack tables or sinks. Built-in lighting also enhances inspection and fine detail work. QTY 1, 24"x12" shelf with built-in LED light bar. Features 1.5" back splash.	1.00	\$404.47	\$404.47
PS-SLF-141215	PureSteel Shelves help organize and mount reprocessing equipment to pegboards requiring flat-bottom support, including: leak testers, heat sealers, suction pumps, drying aids, and other similar accessories. QTY 1, 14"x12x1.5"	1.00	\$322.05	\$322.05
PS-PFRS-05	PureSteel™ Peel Pouch Rack vertically organizes stacks of pre-cut peel pouch packets on a back wall shelf. 8.7"x4"x4". 1.625" spacing. Must be used on a flat surface or shelf. QTY 1 peel pouch rack with 5 slots.	1.00	\$234.37	\$234.37
PS-TB-RAIL	The PureSteel™ Prep and Pack Organization Rail lets users hang peel pouch rolls, stickers, and other sterilization materials on a rail for easy dispensing and refilling. Includes a built-in light. QTY 1, 28"L rail shelf.	1.00	\$921.04	\$921.04
PS-TAPEDS	The PureSteel™ Tape Dispenser mounts rolls of sterilization indicator tape directly onto a backwall, pegboard, or any wall to clear up counter space. Great for installation at assembly tables. QTY 1 tape dispenser for backwalls, pegboards, or wall mounting.	1.00	\$279.14	\$279.14

PS-PSBR-24x3	<p>Wall mounted rail for PureSteel Plastic Shelf Bins. Allows flexible installation and management of bins on pegboards and walls.</p> <p>QTY 1, wall mounted rail. 24"L x 3"H.</p>	1.00	\$120.78	\$120.78
PS-PSB-5.5x11x5	<p>Plastic shelf bins that hang in PureSteel pegboards and organize tools and accessories at an easy to reach height.</p> <p>QTY 1, plastic shelf bin. 5.5"W x 11"L x 5"H</p>	4.00	\$13.83	\$55.72
PC-VS-ARM-S-KYBD	<p>The Ergotron® Wall Mounted Keyboard and Monitor Arm organizes keyboards, computer mice, handheld scanners, and computer monitors at an appropriate, ergonomic height for every user. The Keyboard Arm is ideal for tight areas with built-in flexibility for wrist, arm, and height adjustment. The back tilt keyboard tray also removes pinch points during work.</p> <p>QTY 1 Wall Mounted Keyboard and Monitor Mount System.</p> <p>Does not include monitors, keyboards, scanners, or additional items.</p>	1.00	\$1,973.48	\$1,973.48
PC-VS-VSS	<p>The Ergotron® VESA Scanner Shelf provides a platform shelf for placing wireless scanners or accessories alongside monitor screens. Holds up to 1.5 lbs.</p> <p>QTY 1 scanner mount. Includes mounting brackets.</p>	1.00	\$290.27	\$290.27
PS-ASSEMBLY-T3	<p>Factory assembly of back walls and/or pegboards, accessories, electrical wiring and channeling, and product assembly. Final polish and cleaning included. Factory assembly does not include final connections, removal of pre-existing systems or equipment, or moving equipment into place.</p>	1.00	\$2,650.00	\$2,650.00
PS-ERGTB-NA-6032	<p>The PureSteel Ergonomic WorkStation is designed to enhance the packaging of instruments and instrument sets in reprocessing areas. Electro-mechanical height-adjustability allows users to find the most comfortable standing or sitting height during work. Features <u>include</u>: push button lifters to adjust work height and enable easy maintenance; 8 electrical outlets for wiring additional equipment.</p> <p>QTY 1, 60"L x 32"W height-adjustable workstation.</p>	5.00	\$11,579.07	\$57,895.35
PS-TB-PB-6024-S	<p>PureSteel Table Pegboards organize and store a customized set of reprocessing tools and supplies within safe and ergonomic reach for the technician or nurse. <u>Can</u> also organize electric cords away from wet or crowded areas. Features <u>include</u>: height adjustable with the table; a variety of optional organizing accessories.</p> <p>QTY 1, 60"L x 24"H table pegboard, standard pegs throughout.</p>	5.00	\$2,619.88	\$13,099.40
PS-TB-HASHLF	<p>A suspended shelf mounted underneath Ergonomic WorkStations or Tables to <u>lets</u> users store accessories at each table. Adjusts with height-adjustable tables.</p> <p>QTY 1, height-adjustable shelf.</p>	5.00	\$2,344.65	\$11,723.25
PS-TB-PSHLF-12W	<p>The pull out shelf stores <u>work area</u> underneath prep and pack tables. Mounted on underside of an Ergonomic WorkStation or <u>Table</u>, and has 24" extension out from table.</p> <p>Weight capacity est. 50 lbs.</p> <p>QTY 1, 12" W pull-out shelf.</p>	5.00	\$871.78	\$4,358.90
PS-TB-LGHT	<p>Pre-installed LED light into the working surface of the PureSteel Ergonomic <u>Work Station</u>. Allows technicians to inspect woven and non-woven material for defects and quality. Features a dimmer switch to adjust light intensity and</p>	5.00	\$2,557.03	\$12,785.15

	removable and replaceable protective acrylic sheet. QTY 1 table light and acrylic sheet with printed ruler for measuring.			
T-TB-PB-HOOD-04	The <u>PureSteel</u> Table Light Hood provides lighting on table pegboards for optimal visualization of surfaces and soils. 4' in length. QTY 1.	5.00	\$1,114.79	\$5,573.95
PS-LGHT-475X	The <u>PureSteel</u> ™ 4.75x Magnification Task Light provides sterile processing and gastroenterology professionals with enhanced magnification capabilities for external visual inspection capabilities. The task light features 2 different glass lenses that are easily swapped to match the magnification to the task or IFU (a 4.75x and 2.25x magnification lens). The task light features touch-sensitive brightness controls and a spring-balanced arm for easy adjustment & control. Includes a o-clamp and L-bracket for <u>mounting</u> , but does not include hardware. QTY 1 task light, 1, 4.75x lens, and 1, 2.25x lens.	5.00	\$1,202.51	\$8,012.55
PS-SLF-LGHT-24x12	<u>PureSteel</u> ™ Lighted Shelves provide a stainless steel shelf option for mounting accessories on prep and pack tables or sinks. Built-in lighting also enhances inspection and fine detail work. QTY 1, 24"x12" shelf with built-in LED light bar. Features 1.5" back splash.	10.00	\$404.47	\$4,044.70
PS-PPRS-08	<u>PureSteel</u> ™ Peel Pouch Rack vertically organizes stacks of pre-cut peel pouch packets on a back wall shelf. Must be used on a flat surface or shelf. 20.5"x8"x8" size. 2.5" spacing. QTY 1 peel pouch rack with 8 slots.	5.00	\$347.01	\$1,735.05
PS-SLF-141215	<u>PureSteel</u> Shelves help organize and mount reprocessing equipment to pegboards requiring flat-bottom support, <u>including</u> : leak testers, heat sealers, suction pumps, drying aids, and other similar accessories. QTY 1, 14"x12x1.5"	5.00	\$322.05	\$1,610.25
PS-TAPEDS	The <u>PureSteel</u> ™ Tape Dispenser mounts rolls of sterilization indicator tape directly onto a backwall, pegboard, or any wall to clear up counter space. Great for installation at assembly tables. QTY 1 tape dispenser for backwalls, pegboards, or wall mounting.	5.00	\$279.14	\$1,395.70
PS-PSBR-24x3	Wall mounted rail for <u>PureSteel</u> Plastic Shelf Bins. Allows flexible installation and management of bins on pegboards and walls. QTY 1, wall mounted rail. 24"L x 3"H.	5.00	\$120.78	\$603.90
PS-PSB-5.5x11x5	Plastic shelf bins that hang to <u>PureSteel</u> pegboards and organize tools and accessories at an easy to reach height. QTY 1, plastic shelf bin. 5.5"W x 11"L x 5"H	20.00	\$13.93	\$278.60
PC-VS-ARM-S-KYBD	The Ergotron® Wall Mounted Keyboard and Monitor Arm organizes keyboards, computer mice, handheld scanners, and computer monitors at an appropriate, ergonomic height for every user. The Keyboard Arm is ideal for tight areas with built-in flexibility for wrist, arm, and height adjustment. The back tilt keyboard tray also removes pinch points during work. QTY 1 Wall Mounted Keyboard and Monitor Mount System. Does not include monitors, keyboards, scanners, or additional items.	5.00	\$1,973.48	\$9,867.40
PC-VS-VSS	The Ergotron® VESA Scanner Shelf provides a platform shelf for placing wireless scanners or accessories alongside monitor screens. Holds up to 1.5 lbs. QTY 1 scanner mount. Includes mounting brackets.	5.00	\$290.27	\$1,451.35

PS-ASSEMBLY-T3	Factory assembly of back walls and/or pegboards, accessories, electrical wiring and channeling, and product assembly. Final polish and cleaning included. Factory assembly does not include final connections, removal of pre-existing systems or equipment, or moving equipment into place.	5.00	\$2,650.00	\$13,250.00
----------------	---	------	------------	-------------

Totals

Total Price \$178,787.22
 Shipping: FOB Origin - TBD
 Shipping charges calculated and added to the invoice on shipment date.
 Grand Total \$178,787.22